Algebra II w/ Trigonometry
3.1-3.3 Quiz Review Sheet




              Name_________________________ 

WITHOUT A CALCULATOR








	1.  Rewrite the expression using rational exponent notation.
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	2.  Rewrite the expression using rational exponent notation.
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	3.  Rewrite the expression using radical notation.
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	4.  Rewrite the expression using radical notation.
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Simplify:  Do not leave any negative exponents.
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WITH A CALCULATOR

Write the expression in simplest form.  Assume all variables are positive.
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Solve the equation.  Round your answer to two decimal places.
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	Perform the indicated operation. Let 
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.  Find the following:
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STATE THE DOMAIN:

_____________________
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STATE THE DOMAIN:

_____________________
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STATE THE DOMAIN:

_____________________
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STATE THE DOMAIN:

_____________________




	Perform the indicated operation. Let 
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.  Find the following.
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STATE THE DOMAIN:

_____________________
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STATE THE DOMAIN:
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STATE THE DOMAIN:
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STATE THE DOMAIN:

_____________________
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